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i 1 3,059,212 4,653,608 A1,54,39%
= 83,236
= 2,975,976
OHE A N =52 674,316 586,099 88,217
= 83,236
= 591,080
ANMANE 28 175,51 122,343 53,168
ME 22 2l 66,749 64,697 2,052
201 Ler23| 42,580 40,530 2,050
01 AtR2elt] 34,180 33,330 850
OXIZA 2 X 2 1,930
-NZAg He 70,0003 15 1,050
-KIZAl He & 110,000 »82 880
OXIZA a3 E&-H
100,000 *10E 23| 2,000
OXNYA 2DXM A 2,250
-FSAH A XA
90,0003 #1102+ A 900
-=AlZ DKM 90,0002 * 10t A 900
-SSHGM 2XA 90,0003 *58f A 450
ORSEMA 22 &
400,000& *20H 8,000
OXgM g S2& <
20,000,000 14| 20,000
2 S=29| 8,400 7,200 1,200
OANE g2 fEZ 700,000& =12 8,400
202 (44| 7,128 7,128
01 =WHO4LI 7,128 7,128
OXIZAl A=A 2,330
OBItAl - 23 AEf ZAL 2,330
OMA [tZ &KXl ZA 2,468
203 AR F&lY| 2,200 2,200
03 Al FRIHRFAIY| 2,200 2,200
OXIZA= SU A = 2,200
301 LPBENZ 11,000 11,000
14 J|EI2 43 11,000 11,000
OXIZM SAGAHA IMEIE MB 11,000
“MAAE A SR 100,000 *110¥ 11,000
306 == 3,841 3,839
01 293 3,841 3,839
Oe=XgHARR =2HZ2 3,841
XA L35t 108,762 3,532 105,230
308 AXIEHMSOIN 108,762 3,532 105,230
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18 SI[2S0tet 4 A AS A 108,762 3,532 105,230
OKICH HLHY A AL (2 - RA22)
FIEFAISHI 108,762
THE HEN EE 83,402 82,002 1,400
THAEAL & KFS XAl 2ot 83,402 82,002 1,400
201 ger=3| 78,650 77,250 1,400
01 AtR2te|H] 22,650 21,250 1,400
OXIgAl DXIA M= 12,600
S& XA 90,0003 202 A 1,800
-NSIHA DX A 90,0003 *302} A 2,700
-MHA&EA DX A 90,0003 *902r A 8,100
OXZgHe &Y ¢
300,000 *3CH*23] 1,800
OXIgA &7 2= M 8,250
-NSIAl S0 & g2k
110,000 x157H4+33] 4,950
&AL = etid e
110,000 x 157 *23] 3,300
02 s3=gbl 56,000 56,000 0
OZAl 2X&sE ¥
11,200,000 %53] 56,000
202 04l 4,752 4,752
01 =LHA LI 4,752 4,752
OMAEtAl S 22| 22 =X 4,752
FEOLA &Y BAl 197,936 197,636 300
= 83,236
o 114,700
FEDFA A & EE(KHA) 8,350 8,050 300
201 fer=3| 8,350 8,050 300
01 AtR2tc|Hl 8,350 8,050 300
ONE STt S8 WA
110,000& * 157132l 4,950
O=S4 IIASAIRRZE &G
100,00024x102*13] 1,000
ONE== saHE Z2 )8 R 24| 2,400
FEOIA A Y BE(EX) 179,386 179,386 0
= 83,236
[Ea 96,150
101 e124d| 77,997 77,997 0
= 37,45
= 40,541
M JIZtHZ2 S E 77,997 77,997 0
ONEFEIA ZAIREA FY
80,2403 x39H x24 75,105
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2 3,348
2 38,757
OMEZIIH ZNQEY AYLER
80,2403 x302 242 +3.85% 2,892
= 1,108
o 1,784
201 2= 100,289 100,289 0
= 45,230
Ea 55,059
01 At2t2ltl 100,289 100,289 0
OMgFeIt 98,289
~NFINE ABSAE
86,7002 %14,670= 98,289
= 44,230
o 54,089
OFEIIAZANE MFES +E 2,000
= 1,000
Ea 1,000
202 04l 1,100 1,100 0
= 550
o 550
01 =LHNHI 1,100 1,100 0
OFHSEHEIA(SS - M) 1,100
= 550
o 550
e 288X 10,200 10,200 0
201 =3 10,200 10,200
01 At22t2lt] 2,890 2,890
OFedi= gz =X HA
170&%17,0000H 2,890
2 s5=34l 7,310 7,310 0
OZeIA 2 EXL 2B
4302 %17 ,0000K 7,310
ANSASH 2ot 50,540 55,363 N4,823
NYASAH S 2| 50,540 55,363 N4,823
201 fer=3| 46,976 51,79 N4,823
01 AtR2te|Hl 16,450 21,273 AN4,823
OSAEA 7Y 25,0003 202} A 500
OXXIA HIZ 3,600
-REMHSA DA 90,0003 #1024 A 900
-=2A OXA 90,0003 308 A 2,700
OXZHM &7 2= M= 3,650
-Ng2SH E2= 2,000
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SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O B0 Y 2
110,000& 1574 1,650
Oz €4 Y
300, 000& *2CH*23 1,200
OXNZYOIMERIH A2 2L
1,500,000& 55 7,500
02 E324H| 30,526 30,526 0
OEEg ¢ XA REZ
4302*35,00024 15,050
OLI=Y0IMEeH sl
4,560,000 »2CH 9,120
OLHASLSAAE 022 2,000
OXIZA 2212 LEE L SRAIAE S
SR 363,000 122 4,35%
202 0idl 3,564 3,564
01 =WHO4 LI 3,564 3,564
OXLASA 22 =X 3,564
KA &= 104,537 92,637 11,900
KAl Xl 2tel 77,625 83,325 AB, 700
201 B2 AL| 70,425 73,125 A2,700
01 ArR22ltl 15,640 15,040 600
OXEA SE(HE) XA ME
90,000 *60<t A 5,400
OXIZAl M A=2EHE X3 MBIA 02
= 2,640
OXIZA MRt s dAAF MHIA 0=
= 2,200 5004 1,100
OXA2Ze| ZAL S & =2
200,000& 1024 2,000
OHE4+TATXSAOAAS BaLL
100,000& *1H*23] 200
OXNZA(MEE) &8 &8 89 L 22t
o ’MIE 110,000 *15JH*23] 3,300
OR0! EBLLAAL 242
80& *12,50024 1,000
02 32| 54,785 58,085 A3,300
OXZM HEde fE= 32,075
-=FXAN 5 2,530 *1,0000H 2,530
“HEDXAN 2 430 *54,0000H 23,220
-HEdE ol & EX
2,530&*2,500A 6,325
OMY X &H58 ANEE SHE
40,0003 =2CH*12& 960
OXNe xte St AXAAE FRNEa 6,800
Ot SXIAIAE 0182
150,000+ 12& 1,800
OMgd S22 NLS SAE> 10,000
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202 04| 3,000 3,000
01 2L AL 3,000 3,000
OXZAH = S22 =& 3,000
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x|+ 1,000,000+ 1S H 1,000
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KAl s=E2e] 26,912 9,312 17,600
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01 At2tltl 2,400 2,400 0
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300,000 *8H 2,400
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OMEN 24 27 & ol dUEE ==
= 3,000& x50 150
ON 2l oH& T 2
120,000& *3H 360
OJIFSeAEe BH+E
100,000& 7 & *13] 700
202 04| 1,000 1,000
01 2LHA LI 1,000 1,000
OMel=2 d+ gF =X 1,000
308 AHXIHMSO0IA 56,130 30,308 25,822
13 S [2S0tHet 4 A AS A 56,130 30,308 25,822
OXMITH XIS A2l =L H 2 AL RXI2 56,130
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33 Tatel e84 2kl
Rl SRS 25 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Er=Fe=Tr 5,000
~SII01F 448 2,50
2B} 42 20,000
] 3,000
AT 8% 242 3,000
OBSMMAIOIS EA ST
100,000 x5 & *63] 3,000
2 S3=gHl 584,984 592,789 AT,805
OZ=Me 78l 30,000
OSH 2l 564,984
-Mat=- 229,638
-Z&=oliiHaf 279,231
NPIE NS = 3,300
-HHYHES 10,546
-4 iy 7,79
-HYSE iy 24,470
202 04t 3,106 3,700 A5%4
01 =LHOHI 3,106 3,700 A594
Os=Mar gF =& 3,106
401 Al HIZ R 0HHI 1,000,000 500,000 500,000
01 AlZ28| 1,000,000 500,000 500,000
OZ=Mat Httat 22X H 1,000,000
Mg 387,420 2,603,824 A2,216,404
M =2X2el 387,420 503,824 116,404
201 er2 3| 296,044 371,854 AT75,810
01 At2t2lt] 89,848 139,458 149,610
OZEAL HI3BAIE=E D] ¢ EE &9
4,200,000 22 8,400
OAg etdzel e 29
696,000 * 122 8,352
OF4 & 3 88 7Y 15,000
Oz JtA EF 2 A5
86,0003 *112CH 9,632
Ody| ot ae| el B
258,000 «42|* 12& 12,384
OFA 22 M =22 250
OZAN SAIDIA HI| OEEZ 242
300,000& %12 300
Oz AIEE Adael 11,000
KAZ W 23 Ha
1,000,000& *23] 2,000
-HHAA=H| 750,000& *122] 9,000
OF==J| & Hltl KXl 9,500
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OJIAEHl "A2e 84 4,950
02 S3=gHl 206,196 232,3% N26,200
O - st=E2(2¥)
1,800,000& «12& 21,600
odIz(Z) 22,000,000 +6E 132,000
Ost=A N3] 50,0002 22 100
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100,000 *23] 200
OolE g2 300,000& *122 3,600
Os&dll 2| 154,000 x2CH* 123 3,6%
O&A 22 |XIH 20,000
OFA 22d 25,000
psag=dsll 20,000
—=& R X 5,000
202 04| 1,376 1,970 A5%4
01 =LHA LI 1,376 1,970 axeiel’
OFAL Rl B A2 =X 1,376
401 AIZHIX S0HH 90,000 130,000 240,000
01 AlZH| 90,000 130,000 /40,000
OFAL E=HS WHISAH 90,000
SEXE 2el 129,884 130,472 A\588
SEXE RA & 2l 129,884 130,472 Ab588
201 =3 120,380 119,780 600
01 At22t2lH] 4,860 4,260 600
OZExE 152 sdIIE d
200,000 122 2,400
O=sxE FFRU =22
5,000&x122 60
OFIIBA =8 900
OZEXe 2l 228 s 7¢ 1,500
2 35244l 115,520 115,520 0
OXNS XAl 3,100
OXsxt 2= 17,000
OXtSt AL Al RIS E 3= (20%) 2,000
OXr& =Xl 92,000
-S8Xt 31,000
-Sext 18,000
-st=xt 39,000
=% 4,000
OAIZZHl |XId| 1,000
-Xt0 AE Sl 500
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~®II% B KA 500
OXYE ALYSE +41E
35,0002 x 122 420
202 04| 9,504 10,692 1,188
01 2LHA b 9,504 10,692 A1,188
Oxtgiatel g« =8 9,504
HY2HZHI(THR) 40,809 41,090 A281
238 (TH21) 40,809 41,090 281
J1=2ZHI(HR) 40,809 41,090 A281
201 er2 3| 34,437 34,718 A281
01 AtR2te|HI 217,237 27,518 A281
OJl2=sdl 13,500
OJI2=8Hl 13,737
2 s3234| 7,200 7,200 0
O=gREs 600,000& 122 7,200
202 04l 1,458 1,458
01 =LHA LI 1,458 1,458
ON=Y JI2g: =8 1,458
203 =2l 4,914 4,914
MU FA2SHIFII 4,914 4,914
OMEW FA2S 2=
455,000 * 12 »90% 4,914




